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echo repeat - <count)

echo repeat - ~10 Foo

echo repeat foo -r 10

Foo - pl- r 2

foo - r2-p /
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Decimal (base 10)

245

2x(102) + 4X(10) + 5x(103)
-

2 x 100 t 4 x 10 + 5x0

200
+

40 + 5 = 245

Binary (base 2)
3210

↳

1) ec intx = 3

30 b 1 10 1 - 13
int x = 0611

W int x = 0x3

A
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IX 2 t 1x2
2
+ 0x2' + 1 x 20
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8 t 4 + 0 t 1 = 13
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nst +156 most significant bit
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1 + 13 + A x 16' + F x 16

256 + 160 + 15x1
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projectOl

numstr -> machine -> numstr

int (base)

"245

chars= "245"-
-

↓ ASCII to Dec

S (0) = 12 10 = 40

Sx] = '4' 11 = 44

S (2]
= '5' 2 =

50

int x = s 70] ·
/

X = ? 50

x
=

S(0] - 48

x = 3CO] -& ;



200
int num ;

40

I

num
= (s(r] - -0 !) * 100

+ (s(1)-10) x 10
+ (s92]-'0')X

num
= 245

int intstr-to-int(charks) "245
int num= o ; int disit ;
int i = 0;

While (sci] ? = 10) S
num

= num x 10 ,

disit= S(i)-'0' ;
num = num+ dis it ;
it= 1 ,
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↑* I 20

20 + 4

3
S

s20] ·W
240 + 5



int to string

-sinyint + = 245-

S
base

int x = 245 ; -
bat 16

245 % 10

d = x % 10 = ⑮8 = 5

x = x/0 =
= 4

d = x%N =

⑭
x

=

x/N I 2

d = x%0 = ②
x
= x / 10 = ⑧0

int X = 245 ;

d = x % /16 =


